HTW Chur
TBM, Physik, T.Borer Systemdynamisches Modell: Auslauf

Systemdynamisches Modell: Auslauf

Yalum
Yolumenaegderung

Avizlauftaktar

-

Flaeche

Dichte 4

29.10.2002 p_tbm02_t06.pdf 1/3



Systemdynamisches Modell: Auslauf

TBM, Physik, T.Borer

HTW Chur

Systemdynamisches Modell: Auslauf

29102002 - 13:37:57

Sans|

-0

2/3

.pdf

tbm02_t06

p_

29.10.2002



HTW Chur
TBM, Physik, T.Borer Systemdynamisches Modell: Auslauf

Systemdynamisches Modell: Auslauf

Zustandsgleichungen
Volumen.neu <-- Volumen.alt + dt*(-Volumenaenderung)
Startwert Volumen = 0.001

Zustandsanderungen
Volumenaenderung = Auslauffaktor*Druck

Konstanten
Auslauffaktor = 0.000000005
g=9.81
Dichte = 1000
Flaeche = 0.005

Zwischenwerte
Hoehe = Volumen/Flaeche
Druck = Dichte*g*Hoehe
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